o O,

(2]

© ~
R N

10)

11)

12)

13)

14)

15)

done
12:1,2,8,4,6, 12
16:1,2, 4,8, 16

£,

GCF =4

2x2x3x3
2x2x7
2x3x7
done

28=2x2x7;36=2x2x3x3

GCF=2x2=4

28=2x2x7;42=2x3x7

GCF=2x7=14

24=2x2x2x3;42=2x3x7

GCF=2x3=6

30=2x3x5;75=3x5x%x5

GCF=3x5=15

28=2x2x7;14=2x7

GCF=2x7=14

8=2x2x2;24=2x2%x2x3

GCF=2x2x2=8
21=3x7;35=5x7
GCF=7

22B
1)

£

N O O
RN N~

(o)

10)

11)

12)

13)

14)

15)

4:1,2,4
6:1,2,3,6
GCF=2
16:1,2,4,8,16

2 &yl By AN

20:1,2,4,5,10, 20
GCF:=10

5x5

5x7

2x2x2x5

2x2x2x7
25=5x5;35=5x7

GCF =5
35=5x7;40=2x2x2x5
GCF =5
35=5x7;56=2%x2x2x7
GCF=7

40=2x2x2x5;56=2x2x2x7

GCF=2x2x2=8

22C

1)

2)

3)

4)
5)
6)
7)
8)

9)

10)

11)

36=2x2x83x3;48=2x2x2x2x3 12)

GCF=2x2x3=12
66=2x3x11;90=2x3x3x5

GCF=2x3=6
75=3x5x5;100=2x2x5x5
GCF=5x5=25
12=2x2x3;15=3x5
GCF=3

13)

14)

15)

6:1,2,3,6

8:1,2,4,8

GCF=2

15:1,3,5, 15
20:1,2,4,5,10, 20
GCF=5

71,7

14:1,2,7,14

GCF=7

8=2x2x2
64=2x2x2x2x2x2
16=2x2x2x2
20=2x2x5
8=2Xx2x2;64=2x2x2%x2x2x2
GCF=2x2x2=8
8=2x2x2;20=2x2x5

GCF=2x2=4
64=2x2x2x2x2x2;16=2x2x2x2
GCF=2x2x2x2=16
16=2x2x2x2;20=2x2x5
GCF=2x2=4
27=3x3x3;45=3x3x5
GCF=3x3=9
99=3x3x11;110=2x5x11
GCF=11
15=3x5;100=2x2x5x5
GCF=5

32=2x2x2x2x2;48=2x2x2x2x3
GCF=2x2x2x2=16

22D
1)

2)

3)

306=2x2x3x3;40=2x2x2x5
GCF=2x2=4
15=383x5;20=2x2x5

GCF=5
32=2X2x2x2x2;56=2x2%x2%X7
GCF=2x2x2=8
3=1x3;4=2x2
LCM=2x2x3=12
8=2x2x2;36=2x2x3x3
LCM=2x2x2x3x3=72
10=2x5;45=83x3x5
LCM=2x3x3x5=90

7 _25.744-28:25x4=Q=10

15x4=20;3x4=R=12

47 x 85 =39.95

05x100=5

.69 x12.8 = 8.832

$58 x .10 = $5.80

140.1 + 153.09 + 106.25 = 399.44 sq. ft.

wet_ 1_20 .4 _ -
ey 2 dw’dw 2x20=40

3,13 _1 ’
8 X6 26 =716 of Dad’s check
$320 +16 =$20

dce - Yeg suonnjog



22E

11)
12)
13)
14)
15)

16)

17)

18)

19)
20)

12=2x2x3;18=2x3x3
GCF=2x3=6

30=2x3x5;45=3x3x5
GCF=3x5=15

10=2x5;100=2x2x5x5
GCF=2x5=10

15=3x5;18=2x3x3
LCM=2x3x3x5=90

6=2x3;10=2x5
LCM=2x3x5=30

3=3x1;5=5x1
LCM=3x5=15

2 _8.5x-80:X=
= 575X =80;X =16

.
2 _Y.v_
==Liv=6

7.261
.69
75+.3=25
13 x 61=7.93
.06 x 2.45 = .147
.10 x 950 = 95
16X +5X-8 =[-97]
21X-8 =97
21X =105
X=5
32Y-11) =3@7)
6Y-33=21
6Y =54
Y =9
A-8+6(3)=13
A+18=13+8
A=21-18

25 x $49 = $12.25 off
$49 - $12.25 = $36.75

$36.75 x 1.06 = $38.96 rounded

F
B

= 55 = % ; 4B = 40; B = 10 biographies

22F
1)

2)

3)

75=3x5x5;45=3x3x5
GCF=3x5=15
7=7x1;21=3x7
GCF=7
33=3x11;55=5x11
GCF =11
5=1x5;10=2x5
LCM=2x5=10
8=2x2x2;24=2x2x2x3
LCM=2x2x2x3=24
7=7x1,5=5x1
LCM=7x5=35
46x2=92;28x2=F=>56

10_D. —1360'D =
5= 36,15D-_36O,D_24

-34

-540

-4

75x100=75
03 x 14.6 = .438
11x .67 =.0737

3+4=.75=75%
1+2=.50=50%

=0 = Z— Z°
7.9—.779 —779 Yo

10+2=5
$25.56 + $6.78 = $32.34
$32.34 - $16.16 = $16.18

7 x snowy = 84; snowy = 12
28 - 12 = 16 not snowy

10)

11)

12)

3

2

C: X2+2X+2
D: X2+ 3X+4
B:3X2+6

A: X2+ 4X+3
done

X2+ 3X+ 6
+X2-2X+ 8
2X2 + X414

4X2 - 6X - 6

+2X2 +2X- 3

6X2 -4X- 9

8X2 +2X- 15

+ X2 - 7X+20

9X2 -5X + 5

6X2 -10X + 3

+2X2 - BX - 8

8X2 -15X - 5

X2 - 3X+ 9

+2X2 - 6X- 11

3X2 - 9X - 2

23B
1)
2)
3)
4)
5)
6)
7

8)

9)

10)

11)

12)

trinomial

X

C:X2+9X+2

D:3X2+2X +5

A: X2 +4X +1

B: 2X2 + 3X
5X2 + 3X- 2

+3X2 + 2X- 5

8X2 + 5X- 7

4X2 - X+ 8

+ X2 - 2X-10

5X2 -8X - 2

5X2 - 2X + 4

+2X2 - 3X+ 6

7X2 - 5X +10

7X2 - 3X+ 6
3X2 - BX + 2
4X2 -9X + 8

8X2 - 3X+ 2
-4X2 - 5X - 8
4X2 -8X~ 6

-3X2 - 6X +8
+4X2 + BX- 7
X2 - X+ 1

23C

o 9 & 8 2

)

8)

9)

10)

11)

12)

2
3
C:X2+X
D: X2 +1
A:2X2 +3X +4
B:2X2+5X +2
-4X24+3X -3
+4X2 42X -7
~ BX-10

2X2 + X—6
-2X2-3X +2
X —A

3X2-4X-7
-2X2 +2X +10
X2 —2X+ 3

6X2 +3X -3

-7X2 +2X +5

-X2 +5X+2

4X2 + X-3
-6X2 —3X +2
-2X2 —2X ~1

2X2 +8X +1
+ 5X2 —3X -9
3X2 +5X-8

Q€¢ - dcg suonn|og



